
 

 

 Q. no 1 : Choose the best answer:     
1. Transition temperature of Sulphar.                                     
a) 76 C  b) 66 C    c) 96 C    d)  86 C  
2. Which one of the following is not amorphous solid?  ؟  
a) NaCl  b) Plastic پلاسٹک c) Rubber   d) glass  
3. Density of water is                                                                          
a)  1.00 gcm-3 b) 1.08 gcm-3  c) 0.108 gcm-3 d) 0.001 gcm-3  
4.  Freezing point of ethyl alcohol.                                      
a) -115 C b)+15 C   c) -116 C  d) +116 C 
5.  Which is crystalline solid?                                                         
a) Diamond  ہيرا  b) glass  گلاس c) plastic   d) Rubber  پلاسٹک
Q. no 2: Give short answers  

i. Define vapor pressure?                                        
ii. Define freezing point?                                        
iii. What do you mean by dynamic equilibrium.   

 Why does evaporation increase with increase of temperature?                     

 Why the boiling point of water is is higher than that of alcohol?                
                                   

Q. no 3: Discuss diffusion in liquids. Write the factors which effect it . 
 


